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   Chapter – 2 
 

CHAPTER - 5  

HUMAN RESOURCES 

SOLUTIONS: 

EXERCISES: 

1. Answer the following questions in a sentence. 

(a) Who is a literate? 

Answer: A person above the age of 7 years who is able to read and write any language and 

who can understand simple statement in any language is a literate in India. 

(b) How is density of population measured? 

Answer : Density of population is measured by dividing the number of persons of a country 

by its total area. 

(c) Which district in Manipur has the highest literacy rate ? 

Answer: Imphal West district with 80.2 % literacy rate. 

 

2. Answer the following questions in about 40 words each. 

(a) Why is man regarded as a great resource? 

Answer: Man himself is an inexhaustible store of energy and skill.  With his efforts he creates 

many other resources and help people in improving by using their skills and potentialities to 

the best. 

(b) Why does population change? 

Answer : Population change takes place due to fertility, mortality and migration. This change 

takes place due to natural growth (excess births over death). 
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(c) Explain three geographical factors which influence the distribution of population. 

Answer: (i) LAND FORM : It is one of the most important factors affecting the distribution 

of population.People always prefer plains rather than mountains. 

(ii) CLIMATE : Regions having very hot or cold climate are usually avoided by people. That 

is why deserts, equatorial and polar regions have little population. 

(iii) SOIL:  Soil is also the most important factor affecting the distribution of population. 

Fertile soils support huge population. People are always attracted to more productive areas. 

(d) Why do hill districts of Manipur have low density of population? Give three points. 

Answer : (i)  Hill districts have low density of population because of lack of means of 

transport. 

(ii) Unfavourable climate have a great influence. 

3. CHOOSE THE CORRECT ANSWER. 

(i) Which one of the following changes of residence is called an immigration ? 

Answer: (C) Dhaka to Imphal 

(ii) Birth rate is expressed as the number of live births per 

(A) 100 People        (B) 500 People     (C) 1000 People    (D) 10,000 People 

Answer: (C) 1000 People 

(iii) The sex ratio Manipur is 974. What does it indicate ? 

A. More females than males                                   B .More males than females 

C. Equal numbers of males and females               D. High number in  working age 

Answer : (B) More males than females 
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4. FILL IN THE BLANKS 

(a) The state of…………………has the highest rate of literacy in India. 

Answer: Kerala with 91% literacy rate 

(b) The Ganga plain has……………..density of population. 

Answer: high 

(c) The important components of population growth and fertility, mortality and 

…………………. 

Answer: migration 

(d) The……………………. Districts of Manipur cover nearly 10%  of the total area. 

Answer: four valleys                                                                                                                                                     

 

 


